[bookmark: _GoBack]Solving Two-step Equations
4x – 7 = 1
1. Find what is added or subtracted to the variable & perform the inverse operation.
2. Find what is being multiplied or divided by the variable & perform the inverse operation.
3. Solve for x. Simplify if ​
needed.









Solving Two-step Equations
4x – 7 = 1
1. Find what is added or subtracted to the variable & perform the inverse operation.
2. Find what is being multiplied or divided by the variable & perform the inverse operation.
3. Solve for x. Simplify if ​
needed.











